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Total Pages—7 SH BOT—05

3rd Semester Examination, 2020
Time : 3 hours
Full Marks : 60
Answer any one Group as per your syllabus
Answer from all the Sections as per direction

The figures in the right-hand margin indicate marks

Candidates are required to answer in their own words
as far as practicable

GROUP — A
(MODEL SYLLABUS)
( ANATOMY OF ANGIOSPERMS )

SECTION — A

1. Fill in the blanks with suitable answer : 1x8

(a) The term pharmacognosy was cained
by

( Turn Over )



2.

SHBOT-05

(2)

(b) The wood character of different valuable
timbers kepts in wood liberary called

(¢) Give an example of lateral meristem .

(d) Who first introduced the term xylem .

(e) Histogen theory was given by

(/) Name one example of reaction wood

(g) The organ involved in guttation is

(h) Name one example of mechanical
tissue

SECTION — B

Answer any eight questions in two to three

1
sentences : 1—x8
2

(a) Define tissue.
(b) What 1s adcrustation ?
(c) Types of vascular bundles.

(d) Function of vascular combium.

( Continued )

3.

SHBOT-05

(3)

(e) What are tyloses ?

(/) What is secondary growth ?
(g) What is thytidome ?

(h) Define adaptive system.

(i) What are laticifers ?

(/) What do you mean by Inflexibility ?

SECTION — C

Answer any eight questions in 75 words :

(a) Pharmacognessy.

(b) Ergastic substances.

(¢) Tunica-Corpus theory.

(d) Krantz anatomy.

(e) Reaction wood.

(f) Composition of periderm.

(g) Dendrochronology.

2x8

( Turn Over )



(4)

(h) Classification of stomata.
(/) Glandular and non-glandular trichomes.

(j) Lithocysts.

SECTION — D

Answer all questions : 6 x4

What is tissue ? Describe the classification of
tissue. 6

Or
Describe the introduction of plant anatomy.
Describe the organisation of shoot apex. 6
Or

Discuss the anatomy of monocat leaf.

Describe the anatomical adaptations of
xenophytes. 6

SHBOT-05 ( Continued )

(5)

Or

Describe the mechanical tissue system in
plants.

Give an account of different types of woods. 6
Or

Discuss the development and composition
of periderm.

GROUP — B
(OLD SYLLABUS)
( ANATOMY OF ANGIOSPERMS )

SECTION — A
Write short notes on : 2%x6
(a) Laticifers
(b) Histogen theory
(¢) Rhytidome
(d) Trichomes

SHBOT-05 ( Turn Over )



(6)

(e) Wall ingrowths.
(/) Dendrochronology.

SECTION — B
Answer all questions : 12 x4

Describe the introduction and scope of plant
anatomy. 12

Or
Write notes on : 6x2

(/) Simple and complex tissues

(i7) Ergastic substances.

Describe the origin, development, arrangement
and diversity of leaves. 12

Or

Write notes on : 6x2

(/) Organisation of roat apex

(i7) Types of vascular bundles.

SHBOT-05 ( Continued )

(7)
4. Describe the secondary growth in stem. 12
Or
Write notes on : 6x2

(i) Types of rays and axial parenchyma
(i7) Early and late wood.

Describe the anatomical adaptation of
Xenophytes. 12

Or

Write notes on : 6x2

(/) Epidermal tissue system

(i7) Classification of stomata.

SHBOT—05 BA—
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3rd Semester Examination, 2020
Time : 3 hours
Full Marks : 60
Answer any one Group as per your Syllabus
Answer from all the Sections as per direction
The figures in the right-hand margin indicate marks

Candidates are required to answer in their own words
as far as practicable

GROUP — A
(MODEL SYLLABUS)
(ECONOMIC BOTANY)

SECTION — A

1. Fill in the blanks : 1x8

(/) Groundnut is usually raised as
sown from April to July.

crop,

( Turn Over )



(viii) Gossypium belongs to the family
SECTION — B
2. Answer any eight questions : 11«8
(7)) Write the botanical names of any threze
millets.
SH BOT —06 ( Continued )

(i7)

(iii)

(i)

)

(vi)

(vii)

(2)

1s considered as the 'King of Indian

Spices'.

The botanical name of the tea plant is
sinensis.

Nicoteana tabacum  belongs to
family :
The substances used for smoking are known

as

All cereals belongs to the grass family and
their characteristic fruit is in which
pericarp remains completely fused with
seed coat.

__1s the ability of the wood to with
stand attacks of fungi, bacteria or termites.

(i7)

(iii)

(i)

)

(vi)

(3)

Define crop domestication.

Write the botanical name and family of a
spice which is obtained from the bark of a
plant.

Name three important narcotics obtained
from Indian hemp.

Write the economic importance of linseed
oil.

What are the properties of mustard oil ?

(vii) What is meant by setting ?

(viii) What are the health hazards of tobacco ?

(x)

(x)

3. Answer any eight questions :

()

SH BOT —06

What do you mean by ginning and combing
in relation to the processing of cotton ?

What is the 'toughness' of a wood ?

SECTION — C

Explain the biological importance of
legumes.

2x8

( Turn Over )



(4)

(i) Briefly describe sugar industry in India.
(iii) How curing of tobacco is done ?
(iv) How is opium obtained and how is it used ?

(v) Classify the oils on the basis of their
drying properties.

(vi) Describe cold fat extraction method for
essential oils.

(vii) What are the different types of fibre
according to their origin ?

(viii) Distinguish between pine wood and teak
wood.

ix) Briefly describe the importance of
y
germplasm diversity.

(x)  Enumerate the uses of baggase.

SECTION — D
Answer all questions : 6 x4
4. Describe the various centres of the origin of
cultivated plants given by Vavilov. 6
SH BOT —-06 ( Continued )

(5)

Or

Describe the morphology, cultivation and
propagation of potato plant.

Write a detailed account of the origin cultivation
and processing of tea. 6

Or

Give an account of Cinchona as a plant of
medicinal importance.

What are essential oils ? How they are different
from fatty oils ? Give botanical names and
families of two essential oil yielding plants. 6

Or

Describe the cultivation and economic
importance of coconut.

Describe the processing and uses of rubber. 6
Or

What 1s timber ? Explain the reasoning of
wood.

SH BOT —06 ( Turn Over )



(6)

GROUP — B
(OLD SYLLABUS)

(ECONOMIC BOTANY)

SECTION — A

Write short notes on : 2x6
(a) Germplasm

(b) Millets

(c¢) Botanical name and family of chick pea

(d) Botanical name and family of saffron

(e) Bioethanol
(f) Jute.

SECTION — B

Answer all questions : 12 x4

Give an account of crop domestication and loss
of genetic diversity in plants. 12

SH BOT —-06 ( Continued )

(7)

Or

Write notes on : 6x2
(i) Centres of origin of crop plants

(i7) Evolution of new crop varieties.

Describe the morphology and processing of
sugarcane. 12

Or

Write notes on : 6x2

(7)) Importance of Legumes to man and eco-
system

(i7) Nutritional values of cereals.

Describe the family, parts used and economic
importance of fennel, clove and black pepper. 12

Or

Write notes on : 6x2

(/) Extraction of essential oils

SH BOT —06 ( Turn Over )



(8)

(i7) Botanical name, family and uses of coconut
and soybean.

5. Describe the morphology, extraction and uses
of Cotton. 12

Or
Write notes on : 6x2

(/) Tapping, processing and uses of para rubber

(i7) General account of Teak plant.

SH BOT —06 BA—
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3rd Semester Examination, 2020
Time : 3 hours
Full Marks : 60
Answer any one Group as per your syllabus
Answer from all the Sections as per direction

The figures in the right-hand margin indicate marks

Candidates are required to answer in their own words
as far as practicable

GROUP — A
(MODEL SYLLABUS)
( GENETICS )

SECTION — A

1. Fill in the blanks in one word : 1x8

(a) Mendel's work was published in a paper
entitled

( Turn Over )



(2)

(b) Evidence for cytoplasmic inheritance was
first presented by

(¢) The concept of linkage was first given
by

(d) Crossing over takes place in
stage.

(e) The variation in chromosome number or
structure are called .

(/) The individuals showing heritable change is
known as

(g) Genes has two alternative farms are
called

(h) The sum total of genes present in the repro-
ductive individual of a population constitutes

its
SECTION — B
Answer any eight questions within two tlo
three sentences : 1—x8
2

SHBOT-07 ( Continued )

(3)

(a) Law of segregation
(b) Plastid Inheritance
(c¢) Multiple allele

(d) Linkage

(e) Crossing over

(f) Ancuploidy

(g) Mutagens

(h) Define gene

(/) Random mating

(/) Gene pool.

SECTION — C
3. Answer any eight questions in 75 words: 2 x 8
(a) Incomplete dominance
(b) Pleiotropism
(c) Shell coiling in snail
SHBOT—07 ( Turn Over )



(4)

(d) Cytological basis of crossing over
(e) Position effect

(/) Recombination frequency

(g) Alkylating agents

(h) Functional allelism

(/) Genotype frequencies

(j) Speciation.

SECTION — D

Answer the following questions
within 500 words : 6 x4

Describe the history and principles of Inheritance. ¢
Or

Describe the extrachromosomal inheritance
by giving suitable examples.

Discuss the linkage and crossing over in
plants. 6

SHBOT-07 ( Continued )

(5)

Or

What is recombination frequencies. Describe
the two factor and three factor cross.

Give an account of polyplaidy in plants. 6
Or

What is gene mutation ? Discuss the molecular
basis of mutations.

Discuss the classical vs molecular concepts of gene. 6
Or

What 1s population genetics ? Discuss the
Hardy-Weinberg law.

GROUP — B
(OLD SYLLABUS)

( GENETICS )

SHBOT-07 ( Turn Over )



(6)

SECTION — A
Write short notes on : 2%x6
(a) Epistasis
(b) Epigenetics
(¢) Sex linkage
(d) Position effect
(e) Base analogs

(f) Cis-transcomplementation.

SECTION — B

Answer all questions : 12 x4
Describe the history and principles of inheritance. 12

Or

Write notes on : 6x2

(i) Extra chromosomal inheritance

(i7) Autosomes and Sex-chromosomes.

SHBOT-07 ( Continued )

(7)

3. What is crossing over ? Describe the cytological

basis of crossing over. 12
Or
Write notes on : 6x2
(i) Two factor and three factor cross

(i) Recombination frequency.

Describe a brief notes on variation in chromosome
structure. 12

Or

Write notes on : 6x2

(7)) Molecular basis of mutation

(i7) Aneuploidy.

Describe briefly on classical and molecular
concepts of gene. 12

SHBOT-07 ( Turn Over )



(8)

Or

Write notes on : 6x2

(/) Role of natural selection

(i7) Allele frequencies.

SHBOT-07 BA—
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SGBOT 01

2017
( Semester-I11)
Time : 3 hours
Fuil Marks : 80
The figures in the right-hand mafgin indicate marks.
Answer from both the Sections as per direction. |

( Biodiversity, Microbes, Algae, Fungi
and Archegonite)

SECHGN—A
Answer all questions : 2x8
i. Answerall of the following : |
(a) Prions .
(b) Akinete
(¢) Binary fission
(d) Gemmacup
(¢) Symbiotic Association in Lichen

{ Thrn Over )
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